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Question 12 MGthS SCOt ”

(@) Express x*—6x+8in the form (x—.ar)2 +b.

(b) Hence, or otherwise, state the coordinates of the turning point of the graph of
2
y=x"—6x+38.

The diagram shows the graph of y = x? —6x +8.
A line PQ has been drawn parallel to the x-axis, where:
* P lies on the y-axis

« P and Q lie on the graph of y = x* —6x+8.

I

(c) Find the coordinates of Q.

Answers:
(@  (x—3) -1
(b)  (3,-1)
() (6,8)

This resource is free to distribute and use on a non-commercial basis. Visit Maths.scot for notes and worked examples for every National 5 Maths topic.


https://www.maths.scot/

